DIVISION AND MULTIPLYING BY 10s (H - seT 1)
DIVISION BY 1000

Name:

Time:

Score:

o0 120000 == 1000 =

2208000 <+ 1000 =

402000 + 1000 =

0695000 <+ 1000 =

121000 == 1000 =

6938000 <+ 1000 =

w0 293000 == 1000 =

5995000 <+ 1000 =

W) 312000 = 1000 =

70739000 =+ 1000 =

Mathematics: Division - Level 2 - Horizontal - Set 1
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569000 -+ 1000 =

403000 = 1000 =

206000 —+ 1000 =

822000 = 1000 =

988000 = 1000 =

697000 <+ 1000 =

543000 =+ 1000 =

577000 =+ 1000 =

812000 = 1000 =

304000 =+ 1000 =
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